Bid Tabulation Packet for Solicitation 19-99

Point of Sale Hardware Systems Rental

Bid Designation: Public



Town of Addison

p. 1

Bid #19-99 - Point of Sale Hardware Systems Rental

Creation Date Feb 13, 2019 End Date Mar 7, 2019 2:00:00 PM CST

Start Date Feb 15, 2019 10:05:52 AM CST Awarded Date Not Yet Awarded

19-9901-01 Taste Addison: iPad & Square Stand Bundle								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Fello	First Offer - \$70.00	80 / each	\$5,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Begus online IIc	First Offer - \$221.00	80 / each	\$17,680.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

19-9901-02 Taste Addison: Automatic Cash Drawer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Fello	First Offer - \$70.00	80 / each	\$5,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Begus online IIc	First Offer - \$150.00	80 / each	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

19-9901-03 Taste Addison: Verizon 4G LTE Data Service								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Fello	First Offer - \$12.00	80 / each	\$960.00		Υ			
Product Code:		Supplier Product Co	******					
Agency Notes:		Supplier Notes:						

19-9901-04 Taste Addison: Thermal Receipt Printer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Fello	First Offer - \$60.00	80 / each	\$4,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Begus online IIc	First Offer - \$170.00	80 / each	\$13,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

19-9901-05 Taste Addison: Contactless & Chip Reader							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fello	First Offer - \$10.00	80 / each	\$800.00		Υ		
Product Code:		Supplier Product Co	ct Code:				
Agency Notes:		Supplier Notes: Inclu	ides Reader Charging/Co	onnection D	Oock		

19-9901-06 Taste Addison: Comprehensive Equipment Insurance							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fello	First Offer - \$24.00	80 / each	\$1,920.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

19-9901-07 Taste Addison: Shipping 8	g & Packing					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

	Town	of Addison			
Fello	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
19-9901-08 Taste Addison: On-Si	te Technician		T		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$1,000.00	3 / day	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
19-9902-01 Addison Kaboom Tow	vn!: iPad & Square Stan	d Bundle			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$70.00	80 / each	\$5,600.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
19-9902-02 Addison Kaboom Tow	vn!: Automatic Cash Dra	wer			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$70.00	80 / each	\$5,600.00	71110111	Y
Product Code:	1	Supplier Product Cod	· · · · · · · · · · · · · · · · · · ·		<u> </u>
Agency Notes:		Supplier Notes:			
19-9902-03 Addison Kaboom Tow	n!: Verizon 4G LTE Data	Service			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$12.00	80 / each	\$960.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
19-9902-04 Addison Kaboom Tow	vn!: Thermal Receipt Pri	nter			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$60.00	80 / each	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	1	
	n!: Contactless & Chip				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$10.00	80 / each	\$800.00		Υ
Product Code:		Supplier Product Cod		5	
Agency Notes:		Supplier Notes: Includ	des Reader Charging/Co	nnection D	OCK
19-9902-06 Addison Kaboom Tov	vn!: Comprehensive Equ	ipment Insurance			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$24.00	80 / each	\$1,920.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	L.		
19-9902- 07 Addison Kaboom Tov	vn!: Shipping & Packing				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fello	First Offer - \$4,000.00		\$4,000.00		Υ
Product Code:		Supplier Product C			
Agency Notes:		Supplier Notes:			

Unit Price Qty/Unit

Total Price

Attch.

Docs

19-99--02-08 Addison Kaboom Town!: On-Site Technician

Supplier

Fello	First Offer - \$1,000.00	1 / day	\$1,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

19-9903-01 Addison Oktoberfest: iPad & Square Stand Bundle							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fello	First Offer - \$70.00	125 / each	\$8,750.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

19-9903-02 Addison Oktoberfest: Automatic Cash Drawer							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fello	First Offer - \$70.00	125 / each	\$8,750.00		Υ		
Product Code:		Supplier Product Co	· · · · · · · · · · · · · · · · · · ·				
Agency Notes:		Supplier Notes:					

19-9903-03 Addison Oktoberfest: Verizon 4G LTE Data Service							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fello	First Offer - \$12.00	125 / each	\$1,500.00		Υ		
Product Code:		Supplier Product Co	upplier Product Code:				
Agency Notes:		Supplier Notes:					

19-9903-04 Addison Oktoberfest: Thermal Receipt Printer									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Fello First Offer - \$60.00		125 / each	\$7,500.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

19-9903-05 Addison Oktoberfest: Contactless & Chip Reader											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Fello	First Offer - \$10.00	125 / each	\$1,250.00		Υ						
Product Code:	Tr.										
Agency Notes:		Supplier Notes: Inclu	udes Reader Charging/Co	onnection L	Oock						

19-9903-06 Addison Oktoberfest: Comprehensive Equipment Insurance										
Supplier	Attch.	Docs								
Fello	First Offer - \$24.00	125 / each	\$3,000.00		Υ					
Product Code:		Supplier Product Co	ode:							
Agency Notes: Supplier Notes:										

19-9903-07 Addison Oktoberfest: Shipping and Packing											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Fello	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Υ						
Product Code:		Supplier Product C	ode:								
Agency Notes:		Supplier Notes:									

19-9903-08 Addison Oktoberfest: On-Site Technician											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Fello	First Offer - \$1,000.00	4 / day	\$4,000.00		Υ						
Product Code:		Supplier Product C	ode:								
Agency Notes:		Supplier Notes:									

Supp	lier	0	ta	ls
------	------	---	----	----

f Fello	\$92,110.00 (24/24 items)
Bid Contact Brodie Carteris brodie@fello.com Ph 212-221-3112	Address 10 Park Place Butler, NJ 07405
Agency Notes:	Supplier Notes: Head Attch:
Begus online IIc	\$43,280.00 (3/24 items)
Bid Contact Begus Online begusonline@gmail.com Ph 888-462-6210	Address 2875 Northeast 191st Street 500 Aventura, FL 33180
Agency Notes:	Supplier Notes:

Fello

Bid Contact Brodie Carteris brodie@fello.com Ph 212-221-3112

Address 10 Park Place Butler, NJ 07405

Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
19 -9901- 01	Taste Addison: iPad & Square Stand Bundle	Supplier Product Code:	First Offer - \$70.00	80 / each	\$5,600.00	Υ
19 -9901- 02	Taste Addison: Automatic Cash Drawer	Supplier Product Code:	First Offer - \$70.00	80 / each	\$5,600.00	Y
19-9901-03	Taste Addison: Verizon 4G LTE Data Service	Supplier Product Code:	First Offer - \$12.00	80 / each	\$960.00	Y
19-9901-04	Taste Addison: Thermal Receipt Printer	Supplier Product Code:	First Offer - \$60.00	80 / each	\$4,800.00	Y
19 -9901- 05	Taste Addison: Contactless & Chip Reader	Supplier Product Code: Supplier Notes: Includes Reader Charging/Connection Dock	First Offer - \$10.00	80 / each	\$800.00	Υ
19-9901-06	Taste Addison: Comprehensive Equipment Insurance	Supplier Product Code:	First Offer - \$24.00	80 / each	\$1,920.00	Y
19 -9901- 07	Taste Addison: Shipping & Packing	Supplier Product Code:	First Offer - \$4,000.00	1 / lump sum	\$4,000.00	Y
19 -9901- 08	Taste Addison: On-Site Technician	Supplier Product Code:	First Offer - \$1,000.00	3 / day	\$3,000.00	Y
				Lot Total	\$26,680.00	

Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
19-9902-01	Addison Kaboom Town!: iPad & Square Stand Bundle	Supplier Product Code:	First Offer - \$70.00	80 / each	\$5,600.00		Υ
19-9902-02	Addison Kaboom Town!: Automatic Cash Drawer		First Offer - \$70.00	80 / each	\$5,600.00		Υ

19-99

19-9902-03	Addison Kaboom Town!: Verizon 4G LTE Data Service	Supplier Product Code:	First Offer - \$12.00	80 / each	\$960.00	Υ
19-9902-04	Addison Kaboom Town!: Thermal Receipt Printer	Supplier Product Code:	First Offer - \$60.00	80 / each	\$4,800.00	Υ
19-9902-05	Addison Kaboom Town!: Contactless & Chip Reader	Supplier Product Code: Supplier Notes: Includes Reader Charging/Connection Dock	First Offer - \$10.00	80 / each	\$800.00	Υ
19-9902- 06	Addison Kaboom Town!: Comprehensive Equipment Insurance		First Offer - \$24.00	80 / each	\$1,920.00	Υ
19-9902-07	Addison Kaboom Town!: Shipping & Packing	Supplier Product Code:	First Offer - \$4,000.00	1 / lump sum	\$4,000.00	Υ
19-9902-08	Addison Kaboom Town!: On-Site Technician	Supplier Product Code:	First Offer - \$1,000.00	1 / day	\$1,000.00	Υ
				Lot Total	¢24 600 00	

Lot Total \$24,680.00

Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
19-9903-01	Addison Oktoberfest: iPad & Square Stand Bundle	Supplier Product Code:	First Offer - \$70.00	125 / each	\$8,750.00		Υ
19-9903-02	Addison Oktoberfest: Automatic Cash Drawer	Supplier Product Code:	First Offer - \$70.00	125 / each	\$8,750.00		Υ
19-9903-03	Addison Oktoberfest: Verizon 4G LTE Data Service	Supplier Product Code:	First Offer - \$12.00	125 / each	\$1,500.00		Υ
19-9903-04	Addison Oktoberfest: Thermal Receipt Printer	Supplier Product Code:	First Offer - \$60.00	125 / each	\$7,500.00		Υ
19 -9903- 05	Addison	Supplier Product	First Offer - \$10.00	125 / each	\$1,250.00		Υ

	Oktoberfest: Contactless & Chip Reader	Code: Supplier Notes: Includes Reader Charging/Connection Dock				
19-9903-06	Addison Oktoberfest: Comprehensive Equipment Insurance	Supplier Product Code:	First Offer - \$24.00	125 / each	\$3,000.00	Y
19-9903-07	Addison Oktoberfest: Shipping and Packing	Supplier Product Code:	First Offer - \$6,000.00	1 / lump sum	\$6,000.00	Υ
19-9903-08	Addison Oktoberfest: On-Site Technician	Supplier Product Code:	First Offer - \$1,000.00	4 / day	\$4,000.00	Υ
				Lot Total	\$40,750.00	
				S	Supplier Total	\$92,110.00

Supplier: Fello

QUALIFICATION AND REFERENCE STATEMENT

BIDDER: FELLO, Inc.

COMPANY INFORMATION:

Number of years in business? 8

Number of years at current location? 3

Do you maintain a permanent commercial business office? Yes

Have you or any present partners or officers failed to complete a contract: **No** If yes, give name of owner and/or surety?

Can you be reached 24 hours a day (in an emergency)? Yes

Pager# Cell Phone#

Answer Svc# 888-528-6288 Other#

CUSTOMER REFERENCES

Please provide 3 to 5 users you have provided with this product or service. Use comparable projects and government entities, if any;

Company Name	Contact Name	Phone	Email
Taste of Cuba Food	Isaac Rousso	972-490-9966	Isaac@thetasteofcuba.com
Truck & Catering,			
LLC (based in			
Addison, TX)			
Justin J. Watt	Connie Watt	262-894-6362	connie.jjwf@gmail.com
Foundation			
Levy Restaurants	Ken George	702-692-1680	KGeorge@LevyRestaurants.com
SK Event Services	Milton Karounos	815-354-4865	Milton@SKEventServices.com
Sturgis Buffalo Chip	Mike Kilmer	605-490-5656	cio@buffalochip.com
Campground			

Begus online IIc

Bid Contact Begus Online begusonline@gmail.com Ph 888-462-6210

Address 2875 Northeast 191st Street 500 Aventura, FL 33180

Item #	Line Item	Notes		Jnit Price	Qty/Unit		Attch. Doc
19 -9901- 01	Taste Addison: iPad & Square Stand Bundle	Supplier Product Code:	First Offer -	\$221.00	80 / each	\$17,680.00	Υ
19-9901- 02	Taste Addison: Automatic Cash Drawer	Supplier Product Code:	First Offer -	\$150.00	80 / each	\$12,000.00	Y
19 -9901- 03	Taste Addison:Verizon 4G LTE Data Service					No Bids	
19 -9901- 04	Taste Addison: Thermal Receipt Printer	Supplier Product Code:	First Offer -	\$170.00	80 / each	\$13,600.00	Y
19 -9901- 05	Taste Addison:Contactless & Chip Reader					No Bids	
19-9901-06	Taste Addison:Comprehensive Equipment Insurance					No Bids	
19 -9901- 07	Taste Addison:Shipping & Packing					No Bids	
19 -9901- 08	Taste Addison:On-Site Technician					No Bids	
					Lot Total	\$43,280.00	
Item #	Line Item		Note	s Unit Pri	ce Qty/Un	it	Attch. Doc
19 -9902- 01	Addison Kaboom Town!: Stand Bundle	iPad & Squa	re			No Bids	
19 -9902- 02	Addison Kaboom Town!: Drawer	Automatic C	ash			No Bids	
19 -9902- 03	Addison Kaboom Town!:' Data Service	Verizon 4G L	.TE			No Bids	
19 -9902- 04	Addison Kaboom Town!: Printer	Thermal Re	ceipt			No Bids	
	Addison Kaboom Town!:	Contactless	& Chip			No Bids	
19 -9902- 05	Reader						
19-9902- 05 19-9902- 06		:Comprehen	sive			No Bids	

19-9902-08	Addison Kaboom Town!:On-Site Technician				No Bids	
				Lot Total	\$0.00	
Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
19 -9903- 01	Addison Oktoberfest:iPad & Square Stand Bundle				No Bids	
19-9903-02	Addison Oktoberfest:Automatic Cash Drawer				No Bids	
19-9903-03	Addison Oktoberfest:Verizon 4G LTE Data Service				No Bids	
19-9903-04	Addison Oktoberfest:Thermal Receipt Printer				No Bids	
19-9903-05	Addison Oktoberfest:Contactless & Chip Reader				No Bids	
19-9903-06	Addison Oktoberfest:Comprehensive Equipment Insurance				No Bids	
19-9903-07	Addison Oktoberfest:Shipping and Packing				No Bids	
19 -9903- 08	Addison Oktoberfest:On-Site Technician				No Bids	
				Lot Total	\$0.00	

Supplier: Begus online IIc

QUALIFICATION AND REFERENCE STATEMENT

BID	DER:

COMPANY INFORMATION	ION	lΤλ	KMA	NFOI	L	NΥ	Ά.	JMP	C
---------------------	-----	-----	------------	------	---	----	----	-----	---

Number of years in business?

Number of years at current location?

Do you maintain a permanent commercial business office?

Have you or any present partners or officers failed to complete a contract: If yes, give name of owner and/or surety?

Can you be reached 24 hours a day (in an emergency)?

Pager# Cell Phone#

Answer Svc# Other#

CUSTOMER REFERENCES

Please provide 3 to 5 users you have provided with this product or service. Use comparable projects and government entities, if any;

Company Name	Contact Name	Phone	Email
			keylacorp@az- emarketing.com